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Exam A 

QUESTION 1 

Which three Remote Check options are available with application monitoring? (Choose three.) 

A. UDP 

B. SSH 

C. ICMP 

D. HTTP 

E. SNMP 

F. Telnet 

Correct Answer: ACD 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://blogs.vmware.com/management/2019/04/whats-new-in-vrealize-operations-7-5-a-technical-overview-part-3.html 

QUESTION 2 Which two capacity planning models are used by vRealize Operations 7.5? 

(Choose two.) 

A. usage 

B. overcommit 

C. consumed 

D. allocation 

E. demand 

Correct Answer: DE 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://blogs.vmware.com/management/2019/05/allocation-model-for-capacity-management-in-vrealize-operations-7-5.html 

QUESTION 3 What are Time Remaining utilization 

projections based on? 

A. historical trends 

B. future workloads 

C. current utilization 

D. what-if scenarios 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.user.doc/GUID-8D9F7E29-53E3-4462-9288-8977ED21939D.html 

QUESTION 4 Performance optimization moves virtual compute resources and file systems dynamically across datastore clusters within 

which space? 

A. data centers 

B. resource pools 

www.vceplus.com - Free Questions & Answers - Online Courses - Convert VCE to PDF - VCEplus.com



C. networks 

D. vCenters 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/GUID-9B27A50B-97AD-4B89-89D3-7BB515BD7394.html 

QUESTION 5 What should an administrator enable to protect a vRealize Operations cluster against a single 

node failure? 

A. application remote collector 

B. remote data collector 

C. replica node 

D. additional master node 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/GUID-071E3259-625A-437B-AB34-E6A58B87C65B.html 

QUESTION 6 What is the maximum time period, from the current date, a What-If Analysis workload planning scenario 

can project? 

A. 1 month 

B. 3 months 

C. 6 months 

D. 1 year 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.user.doc/GUID-2D2A0CA2-FA40-4D15-AC1B-C2435A63E33A.html 

QUESTION 7 Where in vRealize Operations is the number of additional VMs that can fit into a data center 

displayed? 

A. datacenter Capacity Allocation Overview dashboard 

B. datacenter object Environment tab 

C. datacenter object Capacity tab 

D. Cluster Utilization dashboard 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 8 What would cause a cluster to appear red, even though it 

is optimized? 
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A. The cluster is out of balance. 

B. The cluster is out of Business Intent compliance. 

C. The cluster capacity has few or no days remaining. 

D. The cluster is out of Operational Intent compliance. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 9 The default 

collection cycle is set. 

How often are cost calculations run? 

A. every 5 minutes 

B. daily 

C. weekly 

D. monthly 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.config.doc/GUID-1614F595-D25A-4321-A31E-0410E88A80F7.html 

QUESTION 10 Which compliance standard is pre-installed in 

vRealize Operations? 

A. Payment Card Industry (PCI) 

B. vSphere Hardening Guidelines 

C. Health Insurance Portability and Accountability Act (HIPPA) 

D. The Federal Information Security Management Act (FISMA) 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/GUID-F68DEC42-80F0-4638-8508-1EACF6564451.html 

QUESTION 11 Which object attributes are used in vRealize Operations 

Compliance analysis? 

A. tags 

B. properties 

C. user access lists 

D. host profiles 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 
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QUESTION 12 

 

Based on the highlighted HIPPA compliance template above, how many hosts are in a compliant state? 

A. 5 

B. 24C. 29 

D. 31 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 13 How can vRealize Operations 

tags be used? 

A. be dynamically assigned to objects 

B. to group virtual machines in vCenter 

C. to set object access controls 

D. to filter objects within dashboard widgets 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 14 How many compliance alerts are generated per host with multiple violations within a 

compliance policy? 

A. one per symptom 

B. one per violation 

C. one per host hardware vendor 

D. one per host system 

Correct Answer: B 
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Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 15 

A user wants to create a super metric and apply it to a custom group to capture the total of CPU Demand (MHz) of virtual machines that are children of the custom group. 

Which super metric function would be used to accomplish this? 

A. Average 

B. Max 

C. Sum 

D. Count 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 16 

Review the exhibit. 

 

When the Cluster Metric Load or Cluster Object Load exceeds 100%, what is the next step a vRealize Operations administrator should take? A. 

Reduce the vRealize Operations data retention time. 
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B. Add an additional vRealize Operations data node. 

C. Increase vRealize Operations polling time. 

D. Remove a vCenter from the vSphere management pack. 

Correct Answer: B 

Section: (none) 

Explanation 

Explanation/Reference: 

QUESTION 17 

vRealize Operations is actively collecting data from vCenter and the entire inventory is licensed. 

Why would backup VMDKs of an active virtual machine in the vCenter appear in Orphaned Disks? 

A. They are related to the VM. 

B. They are named the same as the VM. 

C. They are not in vCenter inventory. 

D. They are not actively being utilized. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 18 In which two locations should all nodes be when deploying an analytics node? 

(Choose two.) 

A. same data center 

B. same vCenter 

C. remote data center 

D. same subnet 

E. different subnet 

Correct Answer: AD 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 19 Which type of view allows a user to create a view to provide tabular data about 

specific objects? 

A. Distribution 

B. Text 

C. List 

D. Trend 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 
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Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/GUID-6EA000E9-0127-45A3-AF31-322EDCFB9EC8.html QUESTION 20 Which Operational Intent 

setting drives maximum application performance by avoiding resource spikes? 

A. Moderate 

B. Consolidate 

C. Over provision 

D. Balance 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 21 What is the minimum assigned role needed to perform user management and cluster 

management? 

A. ContentAdmin 

B. Administrator 

C. AgentManager 

D. PowerUser 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 22 An administrator wants to repurpose hosts in an 

existing cluster. 

Which vRealize Operations capability can be used to determine how many hosts can be repurposed without impacting the workload in the cluster? 

A. Capacity Remaining in Assess Capacity 

B. All Metrics for a Cluster 

C. Remove Hosts What-If Analysis 

D. Capacity Report for a Cluster 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 23 

A user finds a cluster is not visible when attempting to navigate to it in the Environment navigation panel. Global settings within vRealize Operations has disabled all vCenter the account authentication. 

Which two items should be administratively checked within vRealize Operations to ensure that desired object is visible? (Choose two.) 

A. vCenter user privileges 

B. User role 

C. Outbound settings 

D. Policy assignment 

E. User object access assignment 
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Correct Answer: AB 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 24 

Refer to the exhibit. 
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How many hosts in the environment are in maintenance mode? 

A. 2 

B. 5 

C. 8 

D. 10 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 25 

An administrator has 4TB of disk space and allocates each of 100 VMs a 100GB thin-provisioned disk. The VMs use an average of 20GB of disk space each. 

Using the demand-based model, how much disk space is required? 

A. 1TB B. 

2TB 

C. 4TB D. 

8TB 
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Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 26 When starting a dashboard from the Manage Dashboards page, to what can a dashboard be 

directly assigned? 

A. Groups 

B. Embed 

C. URL 

D. Email 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 27 Which two components are directly set in an alert definition? 

(Choose two.) 

A. policies 

B. actions 

C. symptoms 

D. notifications 

E. recommendations 

Correct Answer: CE 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/GUID-CB68E83B-5BB5-46C1-AEBA-71D91CAE7675.html 

QUESTION 28 A view is created in vRealize Operations to track virtual machine maximum and average contention for the 

past thirty days. 

Which method is used to enhance the view to easily spot VMs with high contention values? 

A. Set a tag on virtual machines and filter on the tag. 

B. Edit the view and set filters for the transformation value maximum and average contention. 

C. Create a custom group to dynamically track virtual machines. 

D. Configure Metric Coloring in the Advanced Settings of the view. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 29 

Refer to the exhibit. 
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A user has installed and configured Telegraf agent on a Windows domain controller. No application data is being collected. 

Which two actions should the user take to see the application data? (Choose two.) 

A. Verify the vCenter adapter collection status. 

B. Re-configure the agent on the Windows virtual machine manually. 

C. Verify Active Directory Service status. 

D. Configure ICMP Remote Check. 

E. Validate time synchronization between vRealize Application Remote Collector and vRealize Operations. 

Correct Answer: AE 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 30 Which dashboard widget provides a two-

dimensional relationship? 

A. Heat Map 

B. Object Selector 

C. Scoreboard 

D. Top N 

Correct Answer: A 
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Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 31 What must an administrator do to use the Troubleshoot with Logs Dashboard in vRealize 

Operations? 

A. Configure the vRealize Log Insight agent. 

B. Enable Log Forwarding within vRealize Operations. 

C. Configure vRealize Operations within vRealize Log Insight. 

D. Configure symptoms and alerts within vRealize Operations. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.config.doc/GUID-23201ACB-FB49-41FA-8607-44359E10BCBA.html 

QUESTION 32 Which type of grouping enables collecting similar objects and grouping the objects 

logically by tier? 

A. role-based 

B. dynamic 

C. application 

D. manual 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/GUID-A7BE459E-4CFA-469F-8FF8-BC34E40D2C12.html 

QUESTION 33 Which two virtual machine states can be reclaimed to increase available capacity using vRealize Operations? 

(Choose two.) 

A. powered off 

B. linked 

C. suspended 

D. undersized 

E. idle 

Correct Answer: AE 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/GUID-4A29FC9A-0876-41CD-9C6B-F37CA30E5757.html 

QUESTION 34 

Refer to the exhibit. 
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Active Alerts exist for the object base-w12-01. Why are no alerts showing? 

A. base-w12-01 alerts are acknowledged by another user 

B. base-w12-01 alerts are owned by another user 

C. only alerts for base-w12-01 are seen in the Environment tab 

D. an incorrect filter is applied 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 35 Which two objects have an out-of-the-box troubleshooting dashboard? 

(Choose two.) 

A. virtual distributed switch 

B. virtual datacenter 

C. cluster 

D. vCenter 

E. vSAN 

Correct Answer: CE 

Section: (none) 

Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.core.doc/GUID-F31221BB-A8CF-4064-84CE-4963DD5EF246.html 

QUESTION 36 What does Workload Optimization Business Intent use when 

placing VMs? 

A. vRealize Operations Custom Groups 

B. vCenter Server tags 

C. vCenter Server resource pools 

D. vRealize Operations VM cost 
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Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/GUID-419051D0-C290-4F0D-BC47-58DF92CC814D.html 

QUESTION 37 

vRealize Operations places a tagless virtual machines on a tagged host. 

Which setting causes this behavior? 

A. Host-Based Business Intent 

B. Consolidated Operational Intent 

C. Balanced Operational Intent 

D. Cluster-Based Business Intent 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.0/com.vmware.vcom.config.doc/GUID-419051D0-C290-4F0D-BC47-58DF92CC814D.html 

QUESTION 38 The default 

collection cycle is set. 

When changing the Cluster Time Remaining settings, how long will it take before time remaining and risk level are recalculated? 

A. 5 minutes 

B. 1 hour 

C. 12 hours 

D. 24 hours 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 39 What is a prerequisite for using 

Business Intent? 

A. DRS clusters 

B. storage policies 

C. vSphere 6.7 

D. vCenter tags 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 40 

What can be configured within a policy? 

www.vceplus.com - Free Questions & Answers - Online Courses - Convert VCE to PDF - VCEplus.com



A. alert notifications 

B. symptom definition threshold overrides 

C. custom group membership criteria 

D. symptom definition operator overrides 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 41 Which organizational construct within vRealize Operations has a user-configured dynamic 

membership criteria? 

A. Resource Pool 

B. Tags 

C. Custom group 

D. Custom Datacenter 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/8.0/com.vmware.vcom.core.doc/GUID-07BA3A0D-0F3D-494A-B4F1-A0381DD837D6.html 

QUESTION 42 How should a remote collector be added to a vRealize 

Operations installation? 

A. Log in as Admin on a master node and enable High Availability. 

B. Open the Setup Wizard from the login page. 

C. Navigate to a newly deployed node and click Expand an Existing Installation. 

D. Navigate to the Admin interface of a data node. 

Correct Answer: C 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://masteringvmware.com/how-to-deploy-vrops-remote-collector-step-by-step/ 

QUESTION 43 

Refer to the exhibit. 
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In this planning scenario hosts and VMs are being added. 

If the planned addition of hosts and VMs occur, approximately when will this cluster run out of CPU? 

A. Feb 10 

B. Mar 1 

C. Jun 15 

D. Aug 15 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 44 

An interaction is created from an Object List to a Scoreboard widget in a dashboard. The data does not change when selecting different objects in the Object List widget. 

What could cause this behavior? 

A. Permissions to the associated objects are enabled. 

B. The interaction is hidden. 

C. The Dashboard has not been shared. 

D. The Self Provider radio button in the Scoreboard widget is set to On. 

Correct Answer: D 

Section: (none) 

Explanation 
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Explanation/Reference: 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%2Fcom.vmware.vcom.core.doc%2FGUID-582234A0-79BE-49D6-9E8D-983A71A8D722.html 

QUESTION 45 

An existing vRealize Operations cluster is now required to collect data from a vCenter within a highly secure DMZ in the same physical data center. 

Which node type requires the least amount of ports opened in the DMZ firewall to access the new vCenter? 

A. replica 

B. master 

C. data 

D. remote collector 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 46 From where are vSphere tags assigned to 

virtual machines? 

A. Inventory page in vRealize Operations 

B. Environment Overview in vRealize Operations 

C. within the OS running on each virtual machine 

D. vSphere Web Client 

Correct Answer: A 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.config.doc/GUID-D4223A67-1F6A-4FE3-A3E5-547215A4A93D.html 

QUESTION 47 Which capacity setting should be enabled to avoid overcommitting resources in a 

vSphere cluster? 

A. Demand Model 

B. Operational Intent 

C. Conservative Risk Level 

D. Allocation Model 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://blogs.vmware.com/management/2019/05/allocation-model-for-capacity-management-in-vrealize-operations-7-5.html 

QUESTION 48 

Refer to the exhibit. 
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How is vSphere Usable Capacity calculated? 

A. Demand plus Reservation 

B. Total Capacity minus High Availability 

C. Total Capacity minus Overhead 

D. Demand plus High Availability 

Correct Answer: B 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://pubs.vmware.com/vrealizeoperationsmanager-6/index.jsp?topic=%2Fcom.vmware.vcom.core.doc%2FGUID-85FCA01D-D667-4962-B37C-165F7CA1885E.html 

QUESTION 49 What are two places where views can be consumed in vRealize Operations? 

(Choose two.) 

A. alert 

B. dashboard 

C. Quick Start page 

D. notifications 

E. report 

Correct Answer: BE 

Section: (none) 
Explanation 

Explanation/Reference: 

QUESTION 50 
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Where is the Resource Interaction XML created? 

A. Policies 

B. Access Control 

C. Object Relationships 

D. Metric Configurations 

Correct Answer: D 

Section: (none) 
Explanation 

Explanation/Reference: 

Reference: https://docs.vmware.com/en/vRealize-Operations-Manager/7.5/com.vmware.vcom.config.doc/GUID-77DB5870-DBD9-4646-99F9-B4B144FB6786.html 
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